10 JUNE  2009
 WHAT IS RESPONSIBLE FOR THE MOTION OF       BODIES FROM REST? ENERGY OR FORCE?
 This is a confusion of elementary physics.
Newton’s  law of inertia states that a body will remain at rest if no external force acts on it  and will remain  in motion if an external force is applied on it . But what is applied on it to make it in motion ? Force or energy? It must be energy that sets masses in motion. Force, without being changed in to energy, can not make a certain mass at rest to be in motion. Consider the following relationship between  force , mass and its acceleration and energy.
  If the force, F , is applied on mass m, 
  a:  acceleration of mass m due to F

  S2 : distance moved by the mass 

  S1: distance the force moves before it rests on the mass 
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CASE 1- what is usually represented 

CASE 2-  what the reality is 


Case1 is the usual representation of force applied, distance traveled, mass and its acceleration. i.e.   F= ma : the acceleration  depending  only on the force applied and the mass. 
  But it is difficult to imagine the application of  F  without  the force going a certain distance S1 to make the mass m in motion. There fore, consider there is S1 as in case 2. S1 is as equal physical quantity as the force to determine the acceleration of the body. Acceleration is directly proportional to not only the force applied but also to the distance the force moves before it rests on the mass (S1 ). When S1=0 , the force application can be there but the mass will not be in motion.
Therefore from the law of conservation of energy;
                         Applied energy =   energy due to acceleration of mass (kinetic energy)

                                            F S1= maS2

 But again it is very clear that S1≠ S2. Therefore how can F= ma? (Newton’s second law) being against energy conservation law.
                                   From, FS1=maS2, it implies that 

                                           a = F/ m ( S1/S2 ).  S1/ S2  is a factor of multiplication to be included in Newton’s second law .  Note that when S1=S2, as in the case of pushing a mass from rest to its end ( final destination ), F=ma
 This simple analysis shows that the applied force on a mass at rest can not be equal to the force the mass attains when it is in motion due to the applied force.

                  i.e.             applied force ≠ force attained by mass due its acceleration.

              This is either paradox or ………

If it is valid idea, probably how can we describe the motion of bodies using force only?
MOTION, THEREFORE, MUST BE THE FLOW OF ENERGY FROM ONE FORM TO THE OTHER.
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